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oll No ( To be filled in by the candidate)
( Academic Sessions 2015 - 2017 to 2018 — 2020 )
'-CMATI[EMATICS 2194(INTER PART 1) Time Allowed : 2.30 hours
/ PAPER -1 ( Essay Type ) GROUP - 1I Maximum Marks : 80
SECTION -1
2. 'Write short answers to any EIGHT (8) questions : 16
(i) Prove the rule of addition %+ i Ll

@ Find the muliilicative daverse of {ﬁ =5 )

(iii) Express the complex number 1+i3 in polar form.
(iv) Write the power set of f{a,{b,c}}

(v) Show that the statement p— ( p v q } is tautology.

(vi) Prove that the identity element ¢ ina group G is unique.

(1 =l 1 o
(vii) If A= and A% = , find aand b
la b 0 1
s -2 &
(viti) If B={ 3 -1 4| .find cofactor By
=3 1 =0

(ix) If A isaskew-symmetric matrix, then show that 4% isa symmetric matrix

(x) Solve x2-10=3x"".
(xi) If a,p arethe roots of x*—pr—p-c=0 then prove that (1+afl+ S)=1-¢

(xii) Discuss the nature of roots of the equation x° —5x+6=0

3. Write short answers to any EIGHT (8) questions : 16-
(i) Define proper fraction. -
2 al
iy of el A B C TRt A
(x—-1D{x"-5x+6) x-1 x-2 x&3
A i
(iii) If S S— = -——+-—-—+L y find value of B

(x—a)(x- b}{r—L) x—a g N ey
’ i 1 I
iv) If the numbers —, — and ~——
(iv) ETETY % % are in harmonic sequence, find k

(v) Find sum of infinite geametric series 2 + 1 + 0.5 + ----
(vi) Define geometri@méan,
(vii) If 5, 8 are twoAMs hetween a and b |, find gand b

wiil) 1f Ll N i A e tiiat: i s
74 b C a+c

(ix) Proveghat "C, =
(x) Expand (1+x)3 upto 3 terms.

(xi) Evaluate 330 correct to three places of decimal.
(xii} Check whether the statement 5" —2” is divisible by 3 for n=2,3 is true or false.
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(2)

4. Write short answers to any NINE (9) questions :

(i)
(i)
(i1i)
(iv)
(v)
(vi)
{vii)
(viii)
(ix)

{x)
(xi)

(xii)

(xiii)

Find r , when #=56cm,8=45°
Find the values of all trigonometric functions for ~ 15 n

1-siné# » cosf

Prove that =
cos?  1+sing

Express the difference cos 76 —cos# as produet.
1-cosar _ a2

sina 2
Find the value of cos105° without using caleulator.

Prove

Find the period of 3sin—i—x
| -1

r: F 1
With usual notations prove that —=—+ - 4+ —
r h ra r

Define in-circle of the triangle ABC,

State the law of tangent. ( any two )
Show that cos(2sin™' x) =1-2x?

Solve the equation for #e[0,7] cot? 9= ;

Solve the equation for 6'&[_[},:: ] 2sin@+cos’~1=0
SECTION - 11

Note : Attempt any THREE questions.

5. (a)

(b)

6. {(a)

(b)

7. (a)

(b)

8. (a)

(b)

(b)

If G isa group under the operation “ % " and a.be@ ", find the solutions of the

equations : (i) a¥x=5 (ii) x¥a=0b

1f 7% and 10™ terms of an H.P arc % and % respectively, find its 14™ term

a+l a a
Show that | «

a a

a+f a
a ¥

=@ 3a+1)

Prove that ""'Cast 28 'C.

If o,p are the roots,of 5x>—x-2=0 form the equation whose roots are 2 and %
44

Usesmathematieal induction to prove that n!> »n* for integral values of n> 4.

Afgailway tréin is running on a circular track of radius 500 meters at the rate of 30 km

per hour. Through what angle will it turn in 10 sec?

Reduce sin @ to an expression involving only function of multiples of &raised to

the first power.

Prove that rir + 1 +1n = s?

Prove that tan~' 4+tan™' B = tarl"'--’ﬂ
1- A48
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Roll No ( To be filled in by the candidate)

MATHEMATICS - { Academic Sessions 2015 — 2017 to 2018 — 2020 )

Q.PAPER - I ({ Objective Type ) 219-(INTER PART - 1) Time Allowed : 30 Minutes
GROUP - 11 Maximum Marks : 20

PAPER CODE = 6194

Note : Four possible answers A, B, C and D to each guestion are given. The choice which you think is comrect,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

Bl cos(%{Fﬁ) is equal to :
(A) -sin@ (B) sind (C) cos@ (D) -cosé
2 | Probability of impossible event is :
W 3 ®) | © 0 D) 2
3 | 2tan'4 equals :
E A af 24
A) tan” B tan‘( ]
@ wl(] @ e
A af 24 _![ A )
C ) [ D)
(C) tan L]+A2] (D} tan "
4 | Which angle is quadrantal angle :
(A) 45° (B) 60° (C) 270° (D) frX°
3 Solution of equation ta.n:c=% lies in the quadrants :
(A) Tand I (B) 1Iand Il (C) Land M W (D) IandIV
6 | Middle terms in the expansion of (x+»)"" are :
(A) Z.15 B) T.7, \ G D) T.Ty
7 |If A isthe arca of a triangle ABC, théfwith usual notation A= :
(A) %bcsinﬂ (B) %absina (<) %bcsinu (D) —;—bcsina
8 | Range of cotangent function is/:
(A) N B 7 (C) R (D) C
9 2
Expansion of {3-5%) is validif :
3 5 : 5
(A [ )< % (B) [x]<3 (C) |x|<5 (D) |x|<3
10 | With usual notation R = :
b a ¢ a
C D
(#) 2siny ®) 2sina © 2sina (D) 2sin B
11 | The sum of the four fourth roots of 81 is :

(A) O (B) 81 (C) -8l (D) 3
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1-12 | The property Va,beTR,a=b=>b=a iscalled :

{(A) Commutative (B) Transitive (C) Symmetric (D)} Reflexive
13 | The value of 4!.0!.1!is :

(A) O (B) 1 (€) 4 (D) 24
14 | A squarc matrix A4 =[q;] inwhich a,=0 for all i>; iscalled :

(A) Upper triangular (B) Lower triangular

(C) Symmetric (D} Skew-symmetric
15 Zﬂ:mi:

kel

(a) 122 ® 2 (©) n () 2
16 [ If 5% -4ac>0 but not a perfect square, then roots are :

(A) Equal (B) Complex (C) Rational (D} Irrational
17 | No term of geometric sequence can be :

(A) 0 (B) 1 {C) 2 (D) 3
18 If A and B aretwo sets,then A -B=:

(A) AUBS (B) AnB* (C) (4v B)f D) (4N B)Y
191 partial fractions of xj’ - will be of the form,_

R LR S

R
20 If A =[a;)ys . then [kd|=F

(A) |4 Bk A| (C) k4| (D) kjaf
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